
BPW SERIES



5002 

REF DESCRIPTION DIMENSION QTY 

01 5501

02 5502

03 5503

04 1511

05 5507

06 5508

07 5509

08 5510

09 5518

01

BPW SERIES

5001

REF DESCRIPTION DIMENSION QTY 

01 

02 5506

03 5507

04 5508

05 5509

06 5511

07 5510

5505

PLASTIC CAP

PLUG

O-RING

BRONZE BUSH

BRONZE BUSH

WASHER(PLASTIC)

INNER BOOT

Caliper Seals Repair Kit
345001 - TSB3709/4309/4312

Caliper Guides Repair Kit GUIDE PIN (LONG)

GUIDE PIN (SHORT)

BOLT (LONG)

BOLT (SHORT)

BRONZE BUSH

BRONZE BUSH

O-RING

PLASTIC CAP

PIN CIRCLIP

37 x 123 mm

36 x 70 mm

M16x1.5x100mm
M16x1.5x70mm

41x37x73 mm

41x37x30 mm

41x37x73 mm

41x37x30 mm

5003

REF DESCRIPTION DIMENSION QTY 

01 5001

02 5002 

03 5003 

04 1511

05 5505

06 5506 

07 5507 

08 5508 

09 5509 

10 5510 

11 5511 

12 5518 

345003 - TSB3709/4309/4312
Caliper Guides & Seals Repair Kit

GUIDE PIN (LONG)

GUIDE PIN (SHORT)
37 x 123 mm

36 x 70 mm

BOLT (LONG) M16x1.5x100mm

BOLT (SHORT) M16x1.5x70mm

INNER BOOT
WASHER(PLASTIC)

BRONZE BUSH

BRONZE BUSH

41x37x73 mm

41x37x30 mm

O-RING

PLASTIC CAP

PLUG

PIN CIRCLIP

345002 - TSB3709/4309/4312

0980107620

0980107610



02

BPW SERIES

5004 

REF DESCRIPTION DIMENSION QTY 

01 5512

02 5513 

03 5514 

04 5515 

Caliper Tappet & Boot Repair Kit
345004 - TSB3709/4309/4312

TAPPET

TAPPET BOOT

LOCKER

CLAMP

5007

REF DESCRIPTION DIMENSION QTY 

01 5519

02 5513 

03 5514 

04 5515 

TAPPET

TAPPET BOOT

LOCKER

CLAMP

345007 - TSB3709/4309/4312
Caliper Tappet & Boot Repair Kit

345010 - TSB3709/4309/4312

Caliper Cover Mechanism 

345011 - TSB3709/4309/4312

Caliper Mechanism Seal Set

345012 - TSB3709/4309/4312
Caliper Shaft Roller Bearing Kit

0980107631

 0980107630



03

BPW SERIES

Caliper Roller Bearing

Caliper Flat Bearings
345006 - TSB3709/4309/4312

Caliper Roller Bearing
345005 - TSB3709/4309/4312

Caliper Mechanism Bearing House
345009 - TSB3709/4309/4312

Caliper Calibration Bolt

345008 - TSB3709/4309/4312

345013 - TSB3709/4309/4312
Caliper Flat Bearings

Caliper Manual Adjuster Repair Kit
345018 - TSB3709/4309/4312 



BPW SERIES

Caliper Plug Set

04

345014 - TSB3709/4309/4312
Caliper Calibration Bolt Housing

Caliper Mechanism House Caliper Lever Caliper Bearing House

345019 - TSB3709/4309/4312

Caliper Mechanism, Piston & Cover Kit

345015 - TSB3709/4309/4312

345022 - TSB3709/4309/4312345017 - TSB3709/4309/4312 345016 - TSB3709/4309/4312

345023 - TSB3709/4309/4312

Caliper Mechanism, Piston & Cover Kit

345020 - TSB3709/4309/4312

Caliper Pad Retainer Repair Kit 
345021 - TSB3709/4309/4312
Caliper Pad Retainer Repair Kit

 0580105800


